AlrYYIIrA 3.
3.1. TPUIOHOMETP ®YHKUYYOUWUH TOMAO3I

TpUroHOMETpUNH ONIOH AYypP3M, TOMBEO Hb TPUrOHOMETPUWH TAIMAryya [AO93p
cyypungar yypaac TpUroHomeTp (OYHKLYYL Hb a OHUMMAH XaMx33d Oyly a eHuer anb
My>Xnz Barixaac xamaapy 3epar 3CBasn ceper TAaMAIIrTan 60510XbIr OMArox Hb Gua3HA MaLu
yyxan oM. TPUroHoMeTp PYHKUMAH TIMATMAM eHuer Hb Ganpnax med A33p YHOICM3H

TOOOPXOWIHO.

KoopamHatblH XxaBTramH Med OypT TPUrOHOMETPUNH YHKLYYOUNH TaMOSrnnr

TOAOPXOMNOXoA “TPUrOHOMETP TOMpOr’-unr awmurnaxa. (x,y)=(cosa, sina)
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v’ cosa = x / r ragruvir 6ug magHa, r =1 Tyn Vi
KOCUHYCbIH OYHKUWUWH TAM3M Hb 36BX6H 2 ﬂg X-
UNH TAMAOradC xamaapHa. Tunmaac . +
KOCUHYC Hb 1 Ba 4-p meung 3epar, 2, 3-p .
il X

Meuuna ceper 6anHa. (seca = 1/cosa)
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J » CHHYCbIH QYHKUMAH TAMO3r Hb 36BX6H Y-UWH
— — TAOMAra3ac xamaapHa. TMMMaac cMHyc Hb 1 B6a 2-
p meung aepar, 3 6a 4-p meuna ceper GarHa.
(csca = 1/sina)
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Hb CUHYC 6a KOCMHYCbIH
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Tpu2oHomMempuUH MHEMOHUK 2

CUHYC, KOCUHYC, TaHreHC Sugar Add
sin positive All positive
6a KOTaHreHCbIH TaMAryya
Hb 3epar(positive) Ganx mevyyanmnr To 9 Coffee
“Add Sugar To Coffee” racaH g positive cos postive
TYNXYYpP Yrasp cyparygaz tamnbapnax
6orHo.
3.2. TPUFOHOMETP ®YHKLWWH SMX3TI3IMNH TOMBEO
v' TpuroHomeTp (hyHKLUMH T3rw 6a coHAron YaHap
A

TpUroHOMETP TOMPOT 033P OHLIMAT TOLOPXOMNITOX400

UarMmH 3yYHUA 3CPar Yvrt 9epar, LarMiH 3yyHUn paryy

AN

ceper YMrNanuur OYPCIJIH3.
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[33px 2 3ypraac cos(-a)=cosa, sin(-a)=-sina 6arx Hb xsanbapxaH xapargax 6arHa.

[apaax xycHartag Tarw 6a coHaron TPUroHOMETPUIH (PYHKLYYAbIr Xapyynas.

TpuroHomeTp chyHKL

Tarw oyHKy CcoHAroM (hyHKy

f(=x)=f(x) f(x)=-f()

sin(—x) =—sinx

cos(—x) =cosx cse(—x) =—cscx

sec(—x) =secx tan(—x) = —tan x

cot(—x) = —cot x

v' TpuroHomeTpunH PYHKUMWH “yeT" YaHap

TorTmMon MHTepBan 39CBaf yeasdp yTryygaa AdasTaar matemMatuk (OYHKLMAT YEYUIICIH
YyHKL raH3. ©epeep xanban, X-unH 6yx yTreiH XyBba f(x+p) = f(x) Ganx separ p 100
barnean f(x) dyHKL Hb yeunncaH GarHa. XamrumH 6ara umm aepar Toor p PyHKUMIAH Ye
roXX Hapnagar. XapaB YHKL yeuuncaH 6on  xsasraaprym TOOHblI yeTan  6onHo.

TuliM33¢c mpu2oHOMempuUH OYHKUYYO Hb Ye4usicaH hyHKUYYO oM.

sin(@ + 27n) = siné
cos(@ + 27n) = cos @
tan(@ + 27n) = tané
csc(f + 2wn) = csc
sec(@ + 2mwn) = secd

cot(@ + 2wn) = cot @



TpuroHoMmeTprUUH (PYHKLUMAH IMXITIISIUMH TOMBEO

OH9 3ypraac xapaxag;

cosB=cos(21r-6)

-cos(6)=cos(1r-6)

Bil=cos0,5sin)ulceccecoealownrn oo o A(c056, sind)
# -cos(6)=cos(r+6)

Sin@=-sin(21r-6)
C(—cosf,—sind) e = D(cos8,—sin8)  sin(6)=sin(1r-6)

-sin(6)=sin(r+6)

1 Oyresp mMeyug eHuryyaumH TPUrOHOMETPUNH  (PYHKLYYAUWMH  XOOPOHLbIH

Xamaapribir aBy y3be.
madnbap 2

Q(b,a):Q(Qcos (Z-6),sin(5-0) )
Q(a,b)=Q(Qcos6, sind)

BOHO33c: b= cos (g — 9) = sinf

a=sin (g - 9) = cos6




3ee 3yp2aaH eHUea2m awuasaacaH maunbap 2

Sin cos Sin(x)=Cos(90" —x)

Tan Cot

W

Tan(x) = Cot (90° x)

o >/ Sec(x) = Csc (90°x)

3O0233putiz MoOUOOIK IMXIM235IUUH MOMBEOHbLI dapaax XyCHa2mutlie 30XU0X 60sIHO.

sin COS tan csc sec cot
—0 —sinf | cosf —tanf | —cscf | secf —coté
w/2—0 | cos@ sin 0 cot 0 sec 6 csc tan @
/246 | cosf —sinf | —cotf | secl —csc | —tané
m™—0 sin 6 —cosf | —tanf | cscf —secf | —cotf
T+ 6 —sinf | —cosf | tanf —cscf | —sech | cot @
37/2—6 | —cosf | —sinf | cotd —sec | —cscf | tanf
3m/2+6 | —cos@ | sinf —cotf | —secO | cscO —tan6
2 — 6 —sinf | cosf —tanf | —cscl | secf —cot 6
27+ 0 sin 6 cos tan 6 cscé sec 6 cot 6




XKuwaas 1l (SAT — wanzanmsiH 60051020)

Example:

If cot x = -5/12, x lies in the fourth quadrant, then find the value of cosec x.

Solution:
Given,

cotx =-5/12
We know that,
cosec’x — cot’x = 1
cosec’ = 1 + cot?x
=1+ (-5/12)2

=1+ (25/144)

= (144 + 25) 144

=169/144

cosec x = \(169/144) = £13/12

Given that x lies in the fourth quadrant and cosec x is negative in the fourth quadrant.

Therefore, cosec x = -13/12

Similarly, we can solve various types of trigonometry problems quickly. These are
useful in determining the values of trigonometry functions which are dependent on
other functions and trigonometry angles also.

5 o
XepeyysiCOH Hb  cotx = — S 6a x Hb 4-p meung Gawraa 6on cosec x on.

Bbodosim

cosec?x — cot’x = 1 cosecx = +— x 4 — p Meuuy baiiraa Ty cosecx = ——

13 13

12 12

Bazw maHO axnbIH aM)>Xusim Xychbe.



